Answers

Maths

Green
Use all the numbers to make each number sentence correct.
Only use each number once.

Any of the numbers that make the number sentence correct - answers will vary

Why is Mrs Power wrong?

Because 4 tens and 3 ones is 43 and that is more than 34

Red - answers need reasons (these will vary depending on how it is explained)

All the numbers are more than 25. Is this true or false? How do you know?
False

All the numbers have less than 5 tens. Is this true? How do you know? True

A number with zero ones will always be less than a number with 7 ones. Is this
true or false? Give two numbers to show how you know. False

A number with 4 tens will always be more than a number with 3 tens. Is this
true or false ? Give two numbers to show how you know. True



